



Vendor Ranking

Page 1 of 1

 Letting:
 03230608
 June 08, 2023 10:00 AM
 Call Order: 002
 Contract:
 E3W30

 District:
 District 3
 Counties:
 BAY
 Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

Project(s): 44759615201 (*)

Contract Desc: ITS COMMUNICATION SYSTEM

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	TRAFFIC CONTROL DEVICES, LLC	Responsive	Winning bid	\$4,167,167.00	100.00%
2	CHINCHOR ELECTRIC INC.	Responsive	Non-Winning Bid	\$6,589,289.88	158.12%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY





Tabulation of Bids

Page 1 of 10

 Letting:
 03230608
 June 08, 2023
 Call Order:
 002
 Contract:
 E3W30

 District:
 District 3
 Counties:
 BAY
 Fed Aid No:
 N/A

Contract Time: 365 AVAILABLE DAYS

Project(s): 44759615201 (*)

Contract Descr: ITS COMMUNICATION SYSTEM

The Improvements under this District Contract consist of upgrading infrastructure for connected and automated vehicles (CAV), enhancements to pedestrian bicycle safety, connected traffic signals, incident management and road weather information within Bay County on SR 30 (US 98) from Walton County Line to Gulf County Line

PRE-QUALIFICATION IS REQUIRED TO BID ON THIS PROJECT

	e No / Item ID n Description	Alternate	Quantity Units	(1) TRAFFIC DEVICE		(2) CHINCHOR E	ELECTRIC INC.		
() in	ndicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Roadway						
0005 MOBIL	0101 1 IZATION 44759	9615201	(1.000) LS	411,650.00000	411,650.00	646,742.10000	646,742.10		
0010 MAINT 447596	0102 1 ENANCE OF T 615201	RAFFIC	(365.000) DA (LS)	407,617.00000	407,617.00	300,578.06000	300,578.06		
0015 TRAFF	0102 14 FIC CONTROL	OFFICER	1,980.000 HR	121.00000	239,580.00	151.73000	300,425.40		
0020 WORK	0102 60 ZONE SIGN		12,638.000 ED	0.60000	7,582.80	0.27000	3,412.26		
	0102 74 1 NELIZING DEV RUM, OR LCD	ICE- TYPES I, I	16,361.000 I, DI, ED	0.20000	3,272.20	0.16000	2,617.76		
	ONGITUDINAL	ICE- PEDESTR . CHANNELIZIN		0.15000	9,855.00	0.14000	9,198.00		





Tabulation of Bids

Page 2 of 10

Letting	g: 0	3230608	June 08, 2023	Cal	l Order: 002		Contract:	E3W30	
	No / Item ID Description	Alterna	ite Quantity Units	(1) TRAFFIC DEVICE		(2) CHINCHOR I	ELECTRIC INC.		
() ina	dicates item is b	id as Lump Sun	า	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Roadway						
0035 ARROW ARROW		VANCE WAR	759.000 RNING ED	10.00000	7,590.00	11.56000	8,774.04		
	0102 99 BLE CHANGE EMPORARY	EABLE MESSA	1,112.000 AGE ED	25.00000	27,800.00	18.79000	20,894.48		
0045 TYPE III	0102115 I BARRICADE	:	340.000 ED	1.20000	408.00	1.81000	615.40		
0050 PORTAI	0102150 1 BLE REGULA	TORY, SIGN	298.000 ED	10.00000	2,980.00	21.68000	6,460.64		
0055 RADAR	0102150 2 SPEED DISF	LAY UNIT	298.000 ED	10.00000	2,980.00	21,68000	6,460.64		
0060 SEDIME	0104 10 3 ENT BARRIEF	₹	1,027.000 LF	9.00000	9,243.00	14.96000	15,363.92		
0065 REMOV	0110 4 10 AL OF EXIST	ING CONCRE	7.000 ETE SY	182.00000	1,274.00	159.67000	1,117.69		
	0522 1 ETE SIDEWA VAYS, 4" THIO		7.000 SY	317.00000	2,219.00	408.94000	2,862.58		
	0999 25 CONTINGEN D 4475961520	CY AMOUNT	(1.000) , DO LS	50,000.00000	50,000.00	50,000.00000	50,000.00		





Tabulation of Bids

Page 3 of 10

Letting:	03230608	June 08, 2023	Ca	all Order: 002		Contract:	E3W30	
Line No / I		te Quantity Units	(1) TRAFFIC CONTROL DEVICES, LLC		(2) CHINCHOF	(2) CHINCHOR ELECTRIC INC.		
	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0001 Roadway

0001 Roadway Section Totals: \$1,184,051.00 \$1,375,522.97

SECTION: 0002 Sign	alization				
0080 0670 5111 TRAFFIC CONTROLLER ASSEMBLY,	13.000 AS	24,900.00000	323,700.00	34,087.71000	443,140.23
F&I, NEMA, 1 PREEMPTION	70				
0085 0671 2 40	29.000	4,400.00000	127,600.00	8,558.50000	248,196.50
TRAFFIC CONTROLLER, MODIFY	EA				
0090 0671 2 50	13.000	888.00000	11,544.00	5,202.00000	67,626.00
TRAFFIC CONTROLLER, RELOCATE- WITHOUT CABINET	EA				
0095 0676 1500	21.000	2,932.00000	61,572.00	9,693.25000	203,558.25
TRAFFIC SIGNAL CONTROLLER CABINET, ADJUST/MODIFY Modification A	EA				
0100 0676 1500	12.000	2,285.00000	27,420.00	10,817.99000	129,815.88
TRAFFIC SIGNAL CONTROLLER CABINET, ADJUST/MODIFY Modification B	EA				
0105 0676 1600	13.000	887.00000	11,531.00	1,625.63000	21,133.19
TRAFFIC SIGNAL CONTROLLER CABINET, REMOVE	EA				





Tabulation of Bids

Page 4 of 10

Lettin	ıg:	03230608	June 08, 2023	Cal	l Order: 002		Contract:	E3W30	
	e No / Item ID n Description		ate Quantity Units	(1) TRAFFIC DEVICE	CONTROL S, LLC	(2) CHINCHOR E	ELECTRIC INC.		
() in	ndicates item is	bid as Lump Sur	n	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION	: 0002	Signalization						
0110	0678 1100		(1.000)	87,905.00000	87,905.00	89,683.93000	89,683.93		
AUTON PERFO		•	′						
	0002	Signalization	Section Totals:		\$651,272.00		\$1,203,153.98		

SECTION: 0	0003 Intelligent Tran	sportation System			
0115 0611 1 1 ITSFM SUBSURFACE DOCUMENTATION- PRO	32.000 MI OJECT LENGTH	1,530.00000	48,960.00	3,973.75000	127,160.00
0120 0611 2 2 ITSFM LOCATION DOC ITS SITE	37.000 UMENTATION- EA	1,530.00000	56,610.00	1,806.25000	66,831.25
0125 0630 2 11 CONDUIT, FURNISH & I TRENCH	821.000 NSTALL, OPEN LF	24.00000	19,704.00	30.30000	24,876.30
0130 0630 2 12 CONDUIT, FURNISH & I DIRECTIONAL BORE	6,970.000 NSTALL, LF	26.20000	182,614.00	46.17000	321,804.90
0135 0630 2 14 CONDUIT, FURNISH & I ABOVEGROUND	150.000 NSTALL, LF	46.00000	6,900.00	34.91000	5,236.50
0140 0633 1121 FIBER OPTIC CABLE, F UNDERGROUND,2-12 F	· ·	7.00000	3,325.00	3.97000	1,885.75





Tabulation of Bids

Page 5 of 10

Letting	g: 0323	30608 Ju	une 08, 2023	Call	Order: 002		Contract:	E3W30	
	No / Item ID Description	Alternate	Quantity Units	(1) TRAFFIC DEVICES		(2) CHINCHOR I	ELECTRIC INC.		
() ind	licates item is bid a	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0	003 I	ntelligent Tran	sportation Systen	n				
0145 FIBER C TERMIN	0633 2 32 DPTIC CONNECTIATION	ΓΙΟΝ, INSTAL	12.000 L, EA	82.00000	984.00	141.75000	1,701.00		
	0633 3 14 DPTIC CONNECTARE, F&I, BUFF		2.000 EA	88.00000	176.00	151.87000	303.74		
	0633 3 16 DPTIC CONNEC ^T ARE, F&I, PATC IATED		2.000 EA ELD	1,520.00000	3,040.00	3,287.38000	6,574.76		
HARDW	0633 3 46 DPTIC CONNEC ^T ARE, RELOCAT FIELD TERMINA	E PATCH	12.000 EA	1,220.00000	14,640.00	1,950.75000	23,409.00		
0165 FIBER C	0633 6 OPTIC CABLE LC	OCATOR	365.000 DA	150.00000	54,750.00	315.01000	114,978.65		
	0633 8 1 CONDUCTOR CO FURNISH & INS		2,045.000 ON LF	6.00000	12,270.00	11.56000	23,640.20		
0175 PULL & COVER	0635 2 11 SPLICE BOX, F& SIZE	SI, 13" x 24"	68.000 EA	1,155.00000	78,540.00	2,709.76000	184,263.68		
0180 PULL & COVER	0635 2 12 SPLICE BOX, F& SIZE	&I, 24" X 36"	3.000 EA	2,900.00000	8,700.00	3,862.61000	11,587.83		





Tabulation of Bids

Page 6 of 10

Letting:	03230608	lune 08, 2023	Cal	l Order: 002		Contract:	E3W30	
Line No /		Quantity Units	(1) TRAFFIC DEVICE		(2) CHINCHOR I	ELECTRIC INC.		
() indicate	es item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	ECTION: 0003	Intelligent Tran	sportation Syster	n				
ELECTRICA	39 1122 LL POWER SERVICE, F&I DUND, METER PURCHAS ACTOR		3,900.00000	3,900.00	4,876.16000	4,876.16		
	39 2 1 L SERVICE WIRE, FURN	895.000 IISH LF	8.00000	7,160.00	10.78000	9,648.10		
	39 2 6 L SERVICE WIRE, REMO	649.000 DVE LF	1.00000	649.00	1.04000	674.96		
	39 3 11 L SERVICE DISCONNEC MOUNT	1.000 ET, EA	1,700.00000	1,700.00	3,687.77000	3,687.77		
PRESTRESS	11 2 12 SED CONCRETE POLE, ERVICE POLE	1.000 F&I, EA	2,135.00000	2,135.00	2,751.45000	2,751.45		
	60 1109 ECTOR INDUCTIVE, F&I,	134.000 EA	300.00000	40,200.00	315.50000	42,277.00		
	60 1400 ECTOR INDUCTIVE,	54.000 EA	133.00000	7,182.00	65.03000	3,511.62		
	60 2102 EMBLY, F&I, TYPE B	10.000 AS	1,300.00000	13,000.00	1,942.09000	19,420.90		





Tabulation of Bids

Page 7 of 10

Letting	j: 03	230608 ,	June 08, 2023	Call	Order: 002		Contract:	E3W30	
	No / Item ID Description	Alternate	Quantity Units	(1) TRAFFIC ((2) CHINCHOR E	ELECTRIC INC.		
() indi	licates item is bio	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0003	Intelligent Tran	nsportation System	1				
	0660 2106 SSEMBLY, F&	I, TYPE F	171.000 AS	1,500.00000	256,500.00	2,231.09000	381,516.39		
VEHICLE	0660 441 E DETECTION ATE CABINET		2.000 PEO, EA	2,660.00000	5,320.00	2,337.29000	4,674.58		
VEHICLE	0660 451 E DETECTION MODIFY CAB		*	1,775.00000	15,975.00	2,229.06000	20,061.54		
VEHICLE	0660 6600 E DETECTION E COMPLETE		10.000 I, EA	580.00000	5,800.00	1,300.50000	13,005.00		
SIGNAL	0663 1400 PRIORITY & F M, RELOCATE	PREEMPTION	2.000 EA	890.00000	1,780.00	3,150.10000	6,300.20		
ITS CAB POLE M	0676 2121 BINET, FURNIS OUNT WITH S 36" H X 20" D		1.000 EA 36,	8,960.00000	8,960.00	14,611.71000	14,611.71		
SMALL E	0676 3 10 EQUIPMENT E H AND INSTAI 13"H X 11" D		1.000 EA N	2,430.00000	2,430.00	2,308.24000	2,308,24		
SYSTEM RELOCA	0680 1402 M CONTROL E ATE, ADAPTIV OL SYSTEM, C MENT	E SIGNAL	4.000 EA	1,775.00000	7,100.00	7,322.54000	29,290.16		





Tabulation of Bids

Page 8 of 10

Letting:	03230608	June 08, 2023	Cal	Order: 002		Contract:	E3W30	
	o / Item ID Alternates	te Quantity Units	(1) TRAFFIC DEVICES		(2) CHINCHOR E	ELECTRIC INC.		
() indica	ates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
;	SECTION: 0003	Intelligent Tran	nsportation Syster	n				
MANAGED	684 1 1 D FIELD ETHERNET SWI & INSTALL	9.000 TCH, EA	4,180.00000	37,620.00	6,502.50000	58,522.50		
	684 1 4 D FIELD ETHERNET SWI E	10.000 TCH, EA	1,177.00000	11,770.00	1,806.25000	18,062.50		
MANAGED	684 1 6 D FIELD ETHERNET SWI CABINET TO REMAIN	6.000 TCH, EA	330.00000	1,980.00	1,372.75000	8,236.50		
	684 5 1 DNVERTER, FURNISH &	2.000 EA	1,340.00000	2,680.00	3,251.25000	6,502.50		
REMOTE F	685 2 1 POWER MANAGEMENT IRNISH AND INSTALL	34.000 UNIT- EA	1,280.00000	43,520.00	1,134.02000	38,556.68		
	920681100 FED VEHICLE ROAD SID	37.000 E EA	16,000.00000	592,000.00	26,837.16000	992,974.92		
CONNECT	920681102 FED VEHICLE, INDUSTRI ER (IN-CABINET PROCES		5,000.00000	185,000.00	15,691.01000	580,567.37		
	920681103 FED VEHICLE, SYSTEM CE UNIT	30.000 EA	9,000.00000	270,000.00	16,798.49000	503,954.70		
	920681104 FED VEHICLE, ONBOARI	16.000 D UNIT EA	18,500.00000	296,000.00	18,193.20000	291,091.20		





Tabulation of Bids

Page 9 of 10

Lettin	g: 03	230608	June 08, 2023	Cal	l Order: 002		Contract:	E3W30	
	No / Item ID	Alternat	e Quantity Units	(1) TRAFFIC DEVICE		(2) CHINCHOR E	ELECTRIC INC.		
() in	dicates item is bio	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0003	Intelligent Tran	sportation Syster	m				
	0920688 7 WEATHER INF M (RWIS), REM		1.000 EA	1,160.00000	1,160.00	1,950.75000	1,950.75		
	0920688100 WEATHER INF M (RWIS)	ORMATION	1.000 EA	19,110.00000	19,110.00	37,323.97000	37,323.97		
0003	Intelligent Trai	nsportation S System	Section Totals:		\$2,331,844.00		\$4,010,612.93 ¹		
		Contract G	rand Totals:		\$4,167,167.00		\$6,589,289.88		



06/14/2023

Tabulation of Bids

Page 10 of 10

Letting: 03230608 June 08, 2023

Call Order: 002

Contract:

E3W30

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.